Multiplication de Deux Trinomes (A)

Simplifiez chaque expression.

1. (—5* 4 65 — 6)(—4s° + 7s* + 55%)

2 (p* = 8p —3)(3p” — 2p +6)

3. (=50° — v? — 50)(3v* — 8 + v?)

L (Th* — 8h3 — 3h*)(9h* — 6h — 2)

Ot

(4t 4 38 4 5%) (—4t 4t — 9t%)

6. (3f* —4f +6)(=8f*— f—1)

-3

(=2 — 2+ Ty) (6y° + 9y +9)

8. (—9h® — 8h? — 8h)(—5h° + Th* — 613)

e

). (4q2 —3q — 7)(—9q5 —5¢* + 9q3)

10 (=8r° 474 — 8r3)(—8r® — 4r% 4 9r)
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Multiplication de Deux Trinomes (A) Réponses

Simplifiez chaque expression.

(=s?+ 65 — 6)(—4s° + 7s* + 55%)
— 45" — 31s% + 615° — 125* — 305>

—_

- (p* —8p—3)(3p° — 2p + 6)
= 3p* — 26p® + 13p? — 42p — 18

\}

3. (=5v — v — 5@)(31}4 — 8v° + v?)
= —150" + 370% — 120° + 390v* — 503

(7h* — 8h* — 3R%)(9h* — 6h — 2)
= 6305 — 114h° + 7h* + 34h> + 6h?

ot

(4t + 383 4 5% (=4t + 1 — 9t7)
= —16tY — 8% — 53t" — 2210 — 45¢°

B —4f+6)(=8f—f—1)
— 24 f* 42913 —4Tf* —2f -6

(@)

-3

=2y’ — ¢ + Ty) (6y° + 9y +9)
= —12y° — 24y* + 15¢° + 549> + 63y

8. (—9h3 — 8h* — 8h)(—5h° + Th* — 6R®)
= 45h% — 230" + 38h5 — 85 + 48h*

- (4¢° =3¢ = 7)(=9¢" — 5¢* + 9¢°)
— —36q" + 7¢° + 114¢° + 8¢* — 63¢°

Ne)

10 (=8r° 4 7% — 8r)(—8r® — 4r% 4 9r)
— 64r% + 247" — 127% + 4195 — 72/*
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